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n=int(input())
reverse=0
while n>0:
yekan=n%210
reverse=reverse*10+yekan
n=n//10
print(reverse)
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n=int(input())
I=n-1
while n%:i!=0:
I=i-1
print(i)
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f=False
while not £:
print ("Enter User Hame:",end='"")
u=input ()
print ("Enter Password:",end="")

p=input ()
if v—"admin™ and p—"0000":
f=True

print ("User Hame Or Password Inmvalid. Try Againm...™)
print ("Wellcome, ”,uﬂ
SsS ..&.Jy ‘) ‘5>L>5_..‘_9 S )‘ o> N JLA
1,1,2,3,5,8,13, ..

________________________________

n=int (input ('n:")) ! n=int (input ('n:"')) l
&=b = 1 i la=hb = 1 |
=0 | \c=0 |
while n>0 | | i !
! . ! 'for i in range (n): |
: print{a, end="' ') : ' o T :
| c=asb | . print(a,end=’ ') |
. b=c i A |
i n=n-1 i ! b=c :
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s=c=0
while True:
n=int(input())
if n==-1:
break
c=c+l
s+=n
a=s/c
print(a)
Ao gioled 10 sae Ojlas jou Ve B) olael: Jlie
for i inrange(1,101):
if 1%5==0:
continue
else:

print(i)
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for i in range(l,11}): 2 4 6 ’g 2 14 16 18 ‘::
for j in range{(l,11): . ! 2] 20 24 2 2 3% :1::
rint (i*j,end=' ') , 12 18 24 38 36 42 48 54 6@

- L ‘. N . J » Ve
rint () ' 2 ‘ . 6 64 72 80
2 4" 81 98

78 1989



for 1 in range(l,&):

for jJ in range(l,i+l):

print (j,end=" ')
print ()
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1 =1

1+2 = 3

1+2+3 = &

1+2+3+4 = 10

1+2+3+4+5 = 15
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